
Notation Scientifique (A)Écrivez chaque nombre ci-dessous en notation standard.
3,88 × 10⁻³ = 6,6 × 10⁻³ =
3,4 × 10⁻⁴ = 9,66 × 10⁻⁵ =

8,848 × 10⁻⁸ = 2,99 × 10⁻⁵ =
2,714 × 10⁻⁷ = 3,4 × 10⁻³ =

7,5 × 10⁻⁴ = 2,59 × 10⁻³ =
9,1 × 10⁻⁶ = 5,1 × 10⁻⁴ =

5,432 × 10⁻⁷ = 1,5 × 10⁻⁷ =
1,396 × 10⁻³ = 5,3 × 10⁻⁵ =
3,29 × 10⁻⁸ = 9,15 × 10⁻⁶ =
4,41 × 10⁻³ = 7,7 × 10⁻⁷ =
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Notation Scientifique (A) SolutionsÉcrivez chaque nombre ci-dessous en notation standard.
3,88 × 10⁻³ = 0,00388 6,6 × 10⁻³ = 0,0066
3,4 × 10⁻⁴ = 0,00034 9,66 × 10⁻⁵ = 0,0000966

8,848 × 10⁻⁸ = 0,00000008848 2,99 × 10⁻⁵ = 0,0000299
2,714 × 10⁻⁷ = 0,0000002714 3,4 × 10⁻³ = 0,0034

7,5 × 10⁻⁴ = 0,00075 2,59 × 10⁻³ = 0,00259
9,1 × 10⁻⁶ = 0,0000091 5,1 × 10⁻⁴ = 0,00051

5,432 × 10⁻⁷ = 0,0000005432 1,5 × 10⁻⁷ = 0,00000015
1,396 × 10⁻³ = 0,001396 5,3 × 10⁻⁵ = 0,000053
3,29 × 10⁻⁸ = 0,0000000329 9,15 × 10⁻⁶ = 0,00000915
4,41 × 10⁻³ = 0,00441 7,7 × 10⁻⁷ = 0,00000077
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